(a+b)(a+b-3)+2E UT=olotH (a+b-m)(a+b—-n) A,
m—+n ] gF27?

@ 2 @3 ® 6 @ 11 ® 16

B

a+b=r12}5H4A,
t(t-3)+2=1>-3t+2
— (1-1)(-2)
=(a+b-1)(a+b-2)
Wb m 40 =142 = 3 O|k.




(3x-2)* = (2x+3)° = (Ax+ 1) (x+ B) & W, A+ B 9] & 73}
ot

> E

> Het A+B=0

B

3x—2=X, 2x+3=YZ 23IH
(3x—2)2 - (2x+3)2

=X2-Y? = (X+Y)(X-Y)

= (5x+1)(x-5)

. A=5 B=-5

s A+ B=0o]Jt}




3.

ohg

=
K3

2
(~a+3p) o W80l e AL




@ 2(x+1) ()c—1

@ 2(x+1)(x-1)

2)




5.  ax’+24x+b= (3x+c)* LW, =T a, b, ¢ &GS A= oY

D a=9,b=16, c= -4
@ a=9,b=16, c=2

® a=3,b=-8 c=4

@ a=9b=8,c=4

@azQ,b:16,024

B

(3x +¢)? = 9x% + 6cx + 2

a=9
6c=24, c=4
b=c% b=16

La=9 b=16, c=4




